[ Efficien

cy vs vertpos |

=0.02
?0.018:—
.016
.014
@.012
0.0
0.008
0.006
0.004
0.002

CIEHCYYS

"'|"'|'..!'|"'|¢'"""|"'|'

................................................

.....................................

0
15

Ratio

||'|||||4|| TTT]

mont
D
[Efficiend —
Efficienq —— B

ate n PLDNN
ated- E/arDNN
ated-TTbarDNN25

~ 0.02p
018F
016F
014F
012F
0.01F
0.008F
0.006F
0.004F
0.002

e_E;cmacy_dgs \_@rt

.............................

.............................

0
!

Ratio

0.9

0.8%

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.
>
2.0.09
£
50.08
20.07
3
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

&

Ratio
N
T

o
©
al

o
©
TTTT

%0 =15 =10 -5 0

510 15 20
Sim. PV z (cm)



	Contents
	Page 1


